£ S W 5] WM B 5 2 =
JeMs28 {85500
MasS =, =
ST
& % n % =z | IT|3
g B %0 OMCCZ 3 BS=64
A-pevy BRI AFD-16H-M(R) 1
A-pevy BRI AFD-16H-M (L) 1
A-bevy BRI AFD-8KH-M(L) 1
I | S ii
: i L N “
¥ | ) U };
} :} ‘ pd \ \ BRILY-A | (UHATEH)
ii ‘ i‘ ; / }: o' SRR 8 4y SRR
g |1 0117 . ] TERERAY 1.6mm
I | %FDW/SH/ 1M } EH BRI 45 R 1 6mm
i |1 -2 VY ] B R Ay 4 mm
H 1 ,/ Iz/éi;x%)ﬁxs 2 zéoxxzoms 2 l 2 ??ﬁﬁhﬁwm
b [ ‘ ﬁ» ] <f | RSN AY AR 6mm
ii | i‘ // // L \ \i HEF | #isE
I I . J/ L Liq . ‘1
! [ 2 N
b | ’ A ]
B = e . N =
! = W - NI 2
I AR = Y i
I = i B
I I o = e | e e {
! i B P
;; N s
| | : = / 3
I | N == Ve };
I |1 : !
i | 1 AN e !
I N ANS = e };
i I N = ’ !
I [ NS e ‘i
33 |1 \\\ Ve }:
I |1 - > - 1
11 0o I NE < “
I | I AN '
: o = N N !
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, I L
= | \ D=xnx N DF=xxxx E=
DIF=XXXX | | 8
F7))-8TS | BHAR] 1
Phhen0x i 1 \ =X V(][
|
w i i
) Dif=xxxx i Df=xxxx v
DIF=XXXX % it
\ A \
\ I ‘ \‘
\ A }1 i
\ ro ||[F=
\ / \ >< il
. / N s I =
\ / = L =
/ \ I S
\ , \ = [T
\\ y \\ bl s
N i N ‘ ‘H
N N bl
N il N [
\\\ // \\ ) “
R b
~o -7 ~o L =
\\\\\\771///// ~— | i --J o
= = 3L_180-4R.~90-0
DSTO(V1.0) 180790 wRd EFR{GE
. I =@ PEre ST AR R 8
i } %% DSTO il Af '=, | I N ‘. " lIl"ll;” *;
kS
\ sz amns — « Al‘l ”r || N"‘ A... - fraEso
= ‘ ﬁﬁﬁ[‘ﬁk): 110 o ‘ wE m f w8

DOOODODODD



OODDODLDDD

90

BiHU=x x x X

60

PFRTiEHE=%x X x X

10

ocltL

oL

25

90

X X X X

X X x x =Md

Sl

xx x x =F LB

DW

20

X X X X

DW=

06

15

25

Ge

k3

fe%A 8
RERINRIN]

UNWIZZ

[ l
o

B
3

R
A
171

fFX

RE | 85

I8
BEAZ

BHER
BT

=R

N




OODDODLDDD

90

X X X Xx =HQ

Sl

120

S v

BEIZHE
y il N

X X X Xx =HQ

VFL o

]
fe%A 8
RERINRIN]

UNWIZZ

[ l
o

B
3

R
A
171

fFX

RE | 85

I8
BEAZ

BHER
BT

=R

N




OODDODLDDD

280

0s

300

20

=831
X X X X

BFEDW
BF
DW

C
20

008 =HAH
gl gl
[s2]

23

oclL

27
3

4 0Z8L=Had& 9

SOolL

X X X X =HAd

FL

k3
feREA B

UNWIZZ

[ l
o

B
3

R
A
171

fFX

RE | 85

I8
BEAZ

B4
BT

=R

N




